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PAPER CODE 2022 (A) s

C PART-l (9th CLASS
NLmlBER:1461 = RT-H )

BIOLOGY  GROUP-I by - onf  GHEL
TIME ALLOWED: 15 Minutes OBJECTIVE u‘.?/_’,a? o 15 = &
MAXIMUM MARKS: 12 12= #F

Je o\ I 3 QL it S L sl Dy g J637 - e D 51 C B A ezl Sy oS
YEIB V] _S’.ng.t_;uﬁ’/éfuﬁwﬂ&_/ﬁé )':J:}'b _f;tzljblﬁ...glﬂuﬂpﬂ:ufdfi_& Jo¥ ! J_fifu;}bu_l_.,’c_.hg it
Note: you have four choices for each objective type question as A, B, C and D. The choice -L,[)::J’}Q.:.,Ulr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1 A A
(1) Which level of organization is less definite in plants? ?‘ail,@;:*vdf&ﬁ?';ﬁus:; 1

(A) Organism level ¢ #5T  (B) Tissue level £ (C) Organ system level Jﬁfi'/g,fj"l' (D) Organ level S5t

(2) Similar cells organised into groups wujLLLf-/ Uﬂi./?b’(ﬁd_/lufu;fé_nz_gﬁﬁ‘}uftﬁ&;)j?}fdj}bﬁ 2)
and performing same functions are called as
ﬁ(i . A [ = et
(A) Organelle (.1 (B) Tissue & (C) Organ /.1 (D) Organ System (/.1
(3) Which is the most basic step of biological method? ?.‘;_Uf?ﬁ(?lc,qKﬁcﬁﬂf‘, (3)

(A) Experimentation t./= # (B) Hypothesis "2, (C) Deduction *} (D) Taking Observations t./cxlsl-
(4) The system of binomial nomenclature.was ihtroduced by _ | g a3 B .:/(ﬂ/‘/ (gelieg JJ’-‘?J@ (4)

(A) Aristotle %</ (B) Robert Whittaker /E;J._*«,{U {C) Ernst Hackel u%dwjﬂ (D) Carolus Linnaeus J‘-‘.:JUJJ(

(5) The sites of aerobic respiration in cell are . -L{?}”f/[_gfa c ks Jr (5)
(A) Plastids i (B) Mitochondria L;J:)}“l. (C) Nucleus u’»"m (D) Ribosomes  #»1s

() The most common chemical found in plant cell wall is - L,..»UJ:L@I:!éwl“,jc_..,xufdf;()fd/uu,;‘ (6)
(A) Albumin /s (B) Lignin u”d (C) Chitin u*s’ (D) Cellulose J#s

(7) In which stage of cell cycle, the cell is preparing enzymes? e bﬂl_,uﬁ‘fjjl ;f:fd'-’ul'.la/tfzd? LU (7)
(A)G1phase #14  (B) Sphase 22 (C) M phase 2 (D) G2 phase £ 2@

(8) Meiosis was discovered by . .,“Lf:,'dp;i_ - fu’/:fd (8)
(A) Golgi £¥ (B) Walther Fleming £<5.Jis  (C) Oscar Hertwig s T (D) Pasteur £

(9) To which category of molecules, enzymes belong? ‘?“;_c.(:;jufg_ﬁggtﬁwb}ffﬁf 9)

(A) Carbohydrates u’ffjila‘,xx.‘:" (B) Nucleic acids s 8 (C) Lipids % (D) Proteins s/

(10) From which bond of ATP molecule, energy is taken? e JedS G e e I ATP (10)
(A)P-Pbond *LP-P  (B)C-Nbond % C-N (C)C-H bond %\ C-H (D) C-O bond 44 C-O

(11) Bacteria living in Colon produce : LU VAL ket (1)
(A) Vitamin A /% (B) Vitamin D ¢/ ks {C) Vitamin K o/t (D) Vitamin C /'t

(12) Which disease is the leading cause of deaths all over the world? ?g_dfﬁgu}/gdzlfafrluf/fy; (12)
(A) Cancer (B) Heart attack _.Ql.m{‘, (C)AIDS il (D) Polio :3,;‘

25(0bj)( *)—2022(!\)-50000 (MULTAN)



PAPER CODE 2022 (A) A
SSC PART-l (9th CLASS)

NUMBER: 1463

BIOLOGY  GROUP- by - o/ GAE
TIME ALLOWED: 15 Minutes OBJECTIVE lﬁi{’_ e 15 = =y
MAXIMUM MARKS: 12 12= AF

Sfe oL S Qo N erne u:ﬂ;éfé.:&bfﬁdlrﬁ{q ({lE -uj"—fé,: D . C B <A wLiﬁ;ﬁyﬁdlrjz oY
Loy It KA e §E L2 S st Mrrsle _Nzosda eSS0 Sk | LS s rmslie S
Note: you have four choices for each objective type question as A, B, C and D. The choice -U:JQJ’JJ;..:«U‘;*
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Which is the most basic step of biological method? ?%Uﬁﬁﬁfaqfﬁfﬁﬂfl, (1)
(A) Experimentation t/_-,gf" (B) Hypothesis u"’ﬁr;i‘. (C) Deduction JZ; (D) Taking Observations t/:.«l);b"f

(2) The system of binomial nomenclature was introduced by _____. NS ,;/d::f"’s’ﬁgs J:U'f-"?{jl, (2)

(A) Aristotle #2  (B) Robert Whittaker Aty (C) Ernst Hackel S (D) Carolus Linnaeus u’-‘éJuJ;K

(3) The sites of aerobic respiration in cell are : Il P A (3)
(A) Plastids i1k (B) Mitochondria pif}’;. (C) Nucleus u’-’@:’ (D) Ribosomes  #++L

(4) The most common chemical found in plant cell wall is ;e u’“;‘fuu.»',tgg_gupc,..ﬂ)fdl,b}»ﬁ_{uug (4)
(A) Albumin /g (B) Lignin uj (C) Chitin L-;*:K (D) Cellulose sk

(5) In which stage of cell cycle, the cell is preparing enzymes? ?;,tﬁyxﬁyjﬁﬁfﬁuf&fu&fbdf (5)
(A) G1phase #1¢  (B) S phase 2 4 (C) M phase 2(! (D) G2 phase 2 2 &

(6) Meiosis was discovered by . sl S (6)
(A) Golgi L_f? (B) Walther Fleming ﬁ)b (C) Oscar Hertwig J;c,/;/f‘T (D) Pasteur ﬁg

(7) To which category of molecules, enzymes belong? ?c“__(_,rj(_,‘UIJ/'!{QL JL’?(/’U:; 7

(A) Carbohydrates J@l’p{;? (B) Nucleic acids i (¢ (C) Lipids i%) (D) Proteins sy

(8) From which bond of ATP molecule, energy is taken? ?.;.&@Ju%wc,;-gc,w’z ATP (8)
(A)P-Pbond 4L P-P  (B)C-Nbond %4 C-N (C)C-Hbond X C-H (D) C-O bond %| C-O

(9) Bacteria living in Colon produce : sl jé’gi_ls“g_zui'u}f (9)
(A) Vitamin A /s (B) Vitamin D. o/t (C) Vitamin K ¢/'ts (D) Vitamin C ¢/t

(10) Which disease is the leading cause of deaths all over the world? ?.f_gj,@gw;,dmf@ru:/ég; (10)
(A) Cancer (B) Heart attack £l  (C)AIDS 4 (D) Polio 7

(11) Which level of organization is less definite in plants? e Oufddeade= tumy (1)

(A) Organism level Jxp#T  (B) Tissue level Jx# (C) Organ system level U'A("”uf-' (D) Organ level Jxo/oT
{12} Similar cells organised into groups iu_’{d",_li:( uy"Z_/‘F'E’gﬁbg;sluﬁadné.g?f}uff&;)}kéug (12)
and performing same functions are called as

(A) Organelle (%27 (B) Tissue # (C) Organ /7 (D) Organ System (’uff

25(0bj)( ¥ 3¢)-2022(A)-50000 (MULTAN)



PAPER CODE 2022 (A) @9 sy

5 SSC PART-l (9th CLASS
MBER: 1465 ( )

BIOLOGY  GROUP- by - on/ GAE
TIME ALLOWED: 15 Minutes OBJECTIVE U:Gf_’,ﬂ? 2415 = =
MAXIMUM MARKS: 12 12= AF

S o L IS 3 Il 2 ene S Ui & vl g $8012 L E D C B ANRILL Iy -2
VEIL V] _llegLJuﬁf):}Jfg_ﬁaJﬂU/L}::_é J(bfb _gﬂjﬂwtflﬁnﬂ&u:a)}‘pt;L& Jak L L/::fu:fbu‘l,k:--ff s
Note: you have four choices for each objective type question as A, B, C and D. The choice -q,&d"ﬂj;..-, Ul
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) From which bond of ATP molecule, energy is taken? E“:_Jlguruwb(ﬁ)ﬁc.}l:c.ufé ATP (1N
(A) P-P bond %( P-P  (B)C-Nbond %\ C-N (C)C-Hbond ki C-H (D) C-O bond *| C-O

(2) Bacteria living in Colon produce . R e ARl e s (@)
(A) Vitamin A /'t (B) Vitamin D ¢/"ts (C) Vitamin K ¢/t (D) Vitamin C ¢/t

(3) Which disease is the leading cause of deaths ali over the world? Tq_,dzh;»dc))}:dmf:.lrluﬁﬂ 2 (3)
(A) Cancer A~ (B) Heart attack @2l  (C)AIDS i (D) Polio x4

(4) Which level of organization is less definite in plants? ?g.fbrf,)':!vuf?(f;ﬁfu»; 4)

(A) Organism level J;{r/j'f (B) Tisstalevel-u £ (C) Organ system level d:!(é’/dj'f (D) Organ level ST

(5) Similar cells organised into groups _ufé"_w/ o uﬁL/?E’@.@,wﬂé_ﬂ’;gg‘}uﬁy&;&)ﬁ:ﬁ;g (5)
and performing same functions are called as
(A) Organelle L,é?f‘s’ (B) Tissue & (C) Organ /o7 (D) Organ System (”uf'f
(6) Which is the most basic step of biological method? ?%U)/(jfflc.qfﬁﬁﬁfg (6)

(A) Experimentation t/=1 7 (B) Hypothesis s ¥l (C) Deduction %5 (D) Taking Observations ¢/ ls-
(7) The system of binomial nomenclature was introduced by el g/dﬁ(yf)ﬁﬁu?ﬁﬂjg (7)

(A) Aristotle ¥/ (B) Robert Whittaker /f:;u:b (C) Ernst Hackel UE;?..*/'DI (D) Carolus Linnaeus uicju":b’

(8) The sites of aerobic respiration in cell are . L e L (8)
(A) Plastids i+ (B) Mitochondria L.4/¥.  (C) Nucleus Lf»'gx (D) Ribosomes 4l

(8) The most common chemical found in plant cell wall is .- ;ﬁ‘»{uui.tgggug)c,___/ufdb&’[fu»g 9)
(A) Albumin ¢/ p¥ (B) Lignin u‘ﬁ (C) Chitin u“a’ (D) Cellulose sk

(10) In which stage of cell cycle, the cell is preparing enzymes? S‘%tﬁg.ﬁgﬁﬁlﬁuf&/gf(&fv&: (10)
(A) G1 phase /;’ 14 (B) S phase AUl (C) M phase /3@‘ (D) G2 phase 228

(11) Meiosis was discovered by Wessd _ dUg (1)
(A) Golgi f( (B) Walther Fleming B (C) Oscar Hertwig hf;h_bﬁ//”l' (D) Pasteur 4 |

(12) To which category of molecules, enzymes belong? e AR FRAR  (12)

(A) Carbohydrates u%.lr%}f)( (B) Nucleic acids izl (¢ (C) Lipids i (D) Proteins iy

25(0bj)( T I 7¢)-2022(A)-50000 (MULTAN)



PAPER CODE 2022 (A) /&/ /f A

- SSC PART-l (9th CLASS
MBER: 1467 ( )

BIOLOGY  GROUP-| by - oo/ G
TIME ALLOWED: 15 Minutes OBJECTIVE u:fo/”J e 15 = &
MAXIMUM MARKS: 12 12= A4S

S o I3 L s U s\ L g §8317 - L D sl C B A Az MLy S
424V _fz._lvbu‘“/"dfgﬂuxfd/é_)ﬂ4 !(_,Js/b _&émr“‘}aiﬂul.?ui:d‘uu‘JL./Q, Pre L d../Q:(u:ﬂJuL.va_..f s

Note: you have four choices for each objective type question as A, B, C and D. The choice -{] fJ’f Ul

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) The sites of aerobic respiration in cell are , qug}’/lficﬁff-m_fz,/?ufu}: (1)
(A) Plastids Ji~ik (B) Mitochondria Li# (C) Nucleus J—”{k (D) Ribosomes  j»»# L

(2) The most common chemical found in plant cell wall is v ﬁlll;.i_t_gggugJc_.,/u‘:dhdfd/u»{j (2)
(A) Albumin ¢/ s (B) Lignin J‘J (C) Chitin u/e/ (D) Cellulose Ik

(3) In which stage of cell cycle, the cell is preparing enzymes? Y’gt"::l‘mﬂ_u/'fly':ldfuﬁ&/u’z(fvd’f (3)
(A)G1phase #105  (B)Sphase U7 (C) M phase 2| (D) G2 phase 22 (.

(4) Meiosis was discovered by . Wesni _ fud (4)
(A) Golgi ¢ (B) Walthef Fiéming oty | (€) Oscar Heftwig! 2z <7 (D) Pasteur £}

(5) To which category of molecules, enzymes belong? ?d‘,'_c_-‘;) u’cjfd/jgg L JJ"T Sj‘f:'l yedl (5)

(A) Carbohydrates I‘Ji"J:P/"-rJf/K (B) Nucleic acids i Ee (C)Lipids 54 (D) Proteins sy

(6) From which bond of ATP molecule, energy is taken? ?.f__;j@d/flp&ﬂ;)’:l,c,.ufi ATP (6)
(A) P-P bond %\ P-P  (B)C-N bond- £/ C-N  (C) C-H bond X, C-H (D) C-O bond £, C-O

(7) Bacteria living in Colon produce : ,uji_,f : L/-CLl;q,;u"uﬂf (M)
(A) Vitamin A /& (B) Vitamin D ¢/ts (C) Vitamin K ¢/t (D) Vitamin C /ts

(8) Which disease is the leading cause of deaths all over the world? ?;Ldjt'uwfpdngMg:/g; (8)
A) Cancer (B) Heart attack —Fiesf  (C)AIDS Uil (D) Polio ¢

(9) Which level of organization is less definite in plants? ' ?c_ffbrv_-!l.ru}:’/s’(ﬁjfum (9)

(A) Organism level J,J;'/jr' (B) Tissue level Jx#  (C) Organ system level ¥/ ¢ 77 (D) Organ level Sebt

(10) Similar cells organised into groups -ugi_lkf - un.?_./‘?‘ m..;ﬁmuxz_nagg}u:ﬁ&h&%;fug (10)
and performing same functions are called as
(A) Organelle L,‘E.deT (B) Tissue 2 (C) Organ le' (D) Organ System (i'/u(jf
{11) Which is the most basic step of biological method? ‘.‘{_Uﬁf‘ﬁﬂf;ﬂqb’ﬁfﬁﬂﬂ (11)

(A) Experimentation £/ / (B) Hypothesis 24, (C) Deduction o*%; (D) Taking Observations £/ lsté-
(12) The system of binomial nomenclature was introduced by U g ;/ulf-ﬁf"/‘é’_p_:ls c)":U"-‘?éi_. (12)

(A) Aristotle %~/ (B) Robert Whittaker szl (C) Emst Hackel 2% (D) Carolus Linnaeus S ¢

5(0bj)( ¥ I I I¥)-2022(A)-50000 (MULTAN)
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2022 (A) Ay

SSC PART-l (9th CLASS) |
BIOLOGY  GROUP-I SAZy
@ ME ALLOWED: 1.45 Hours SUBJECTIVE &~ Z145 = =
MAXIMUM MARKS: 48 48 = AF

NOTE: Write same question number _%.Zy.uui;_{.jlf,ﬂ?_.é Zyu/ﬁszfdlrdb{q{(}lz

and its part number on answer book, as given in the question paper.

SECTIONA Jsle

-y

2. Attempt any five parts. 10=2x5 -Efeeliable 8 20
()  Define Histology and Physioiogy. G FEEIAE I ()
(i) Differentiate between Micromolecules and Macromolecules. -Q/@}wﬂz-ats/?ﬂf}"zghft (i)
(i) Describe Colonial type Cellular Organization. AP il
(v)  What are Quantitative Observations? Give example. _q;df’» S‘gﬂ,_f.:.ugléa-d;fﬁ (iv)
(v)  What is meant by Biological Problem? ‘e il W)
(vi)  Define Bioinformatics. S ,*"'Juﬁéﬁflf Lo (vi)

(vii)  What are Plasmodesmata?

(viii)  What are Chromoplasts? How do these help in pollination?

Y Ly
=3 F]
Sl fucl e ST S

(vii)

(viii)

3. Attempt any five parts. 10=2x5 -E e L2l 8 340
) Differentiate between extinct and endangered species. -g_,jfd)ut ,‘E(ﬁ{;b a3l i;?)v;! (i)
(i) Write down classification of human. AR )
(i) What is method of Cytokinesis in Animal cell? S K AUEAREEFL e i)
(iv)  What is non-disjunction? Pt (v
(v) Define Synapsis. -._{/;..gf/"lf w&ﬁ_‘.ébf (v)
{vi) Draw and |abel diagram of Metaphase | of Meiosis |. _q/ﬂ/’&rtﬂli J I /iL: J 1 u’?lu’ {vi)

(vii)  How many ATP are produced during Aerobic and
Anaerobic Respiration?

{viii)  What is Alcoholic Fermentation?

S & WBATP LUt ptacl preginfsg

e

(vii)

(vill)

4. Attempt any five parts. 10=2x5 S e linble 8 4y
(i) Differentiate between Substrate and Product. _ﬁgﬁjpﬂ;ﬂf{;:fq Vil (i)
(ii) Differentiate between Intracellular enzymes and Extracellular enzymes. -cgqj}wjjf'}!/}&'l 221 ),Hﬁ; (ii)
(iiiy Differentiate between Inhibitors and Activators. ,.—.ﬁ%jd Jj::f'-( il 3yl (iii)
(iv) What are the preventions of Dengue Mosquito? ...;EJ"% )Li ‘{-.:;, /f Ug-i (iv)
(v)  Whatis meant by eutrophication? feslrie by be (V)
(vi)  Draw the diagram of a Villus and Iabel it. LSS W SSAL i)
(vi)  What is meant by Transpirational Pull? Se e S i
(viiiy  What is meant by A-Granulocytes? Give their functions. - At Sl Sl Lot i)

SECTION-II (1.0

NOTE: Attempt any two questions. 18=9x2 -g{;faglzﬁaﬂlrssc.éf -
5.(A)  Explain any four careers related to Biology. 4 -q/wu;;furi@ga.&f.,@;&)ﬂ (.5
(B) Differentiate between Prokaryotic and Eukaryotic cells. 5 LA Zhd St Ky Yl By /:64 ()
8.(A) Write a detailed note on Taxonomic Hierarchy. 2+2 _QJ}f.:JJ‘}%.,)‘yflEILdﬁlfg (.6

144 Qe isens e F IS IONAr (o)

Write a detailed note on light reactions of Photosynthesis.

(B) Define Photosynthesis.

7.(A)

(B) Define Transpiration.

Explain digestion of food and churning in stomach. 2+2 U Azl 22 4 ﬁJléJJz} Doarr (A7
144 Lol Wl s 2oz . g /a5 (L)
Explain factors affecting the rate of transpiration.

25-2022(A)-50000 (MULTAN)



2022 (A)

SSC PART-l (9th CLASS)

BIOLOGY GROUP-II

'mAE ALLOWED: 1.45 Hours

MAXIMUM MARKS: 48

SUBJECTIVE J®l»

A

fas < v.(:/ GIEL
£145 = =

A

48

NOTE: Write same question number -%-C’/JJU:%{.J'}’,&%:( Z-,JJ/:‘:!Z»I/.‘UI:’LFJ.;QVQI:Z -

and its part number on answer book, as given in the question paper.

SECTION-l Jsl@

2. Attempt any five parts. 10=2x5

(i What are the major biological issues today?

ii) Define Biochemistry.

(iii) Differentiate between Micromolecules and Macromolecules.
(iv)  Write down the two characteristics of a good hypothesis.
{v) What is Scientific Law? Give two examples.

(v What is meant by Data organization?

(vii)  Differentiate between Primary and Secondary wall.

(vii)  Write down the structure of Ribosomes.

3. Attempt any five parts. 10=2x5
(i) Define Species.

(ii) Write the scientific names of Onion and House crow.

(iii) Define Chromatin.

{iv)  What happens in GO phase?

(v) Differentiate between Necrosis and-Apoplosis.

(vi) What is Cell plate or Phragmoplast?

(vi)  What does FAD and NAD* stands for?

(viii)  Define Fermentation.

4. Attempt any five parts. 10=2x5
(1) Define activation energy.

(i) What is use of enzymes in paper industry?

(iii) Differentiate between prosthetic group and coenzyme.

(iv)  What is the role of magnesium in the life of plants?

(v) What are symptoms and causes of goiter?

(vi)  What is the affect of temperature on rate of transpiration?

(vii)  What is Angina pectoris? '
(

vii)  What are symptoms of dengue fever?

SECTION-Il (5.2

NOTE: Attempt any two questions. 18=9x2

6.(A) Write a detailed note on Kingdom Fungi and Kingdom Protista.

_E fenlnbhe 8 240
SIS e Emnl T ()
By 17 T ()
SRR AL i)
ekt S TR (W)
Lot e EL ()
?q_ﬂ/gf.»;z,;.,.;}!ui (vi)
LTRSS Ay (il

LS fesSped (i)

iz linbie 3 340y
Fokt s 0

‘qff»w'fvé AP ()

g e i

‘e b WA OE (W)

ERT TS W)

Se YA (Vi)

te_ ¥/ NAD* . FAD  (vil)
S i
Efezlinbie S 4y
S FSEAFE ()

S SIS ARt ()
SOOI P s Sy (i)
e Gaduny W)
el zaelbA ()

e WAL (vi)

e YUshE (vl

SRS )

-égfaglﬁﬁaﬂlr»a-éf Oy

5.(A) Define Community and explain its types with examples. 2+ 1 + 1 -u;/(fflu:.u)ﬁf}?leJfJ;qubng&k{ (-5
)  Explain differences between prokaryotic and eukaryotic cells. 24+2% _uj/‘::wu;d/J/";,fo-’Jgf,QuluQ/_f;.; ()

_Vfﬂ;iﬁ;wsgrﬁslé&%ﬁ (-6

(B) What is Anaerobic Respiration? Give its types in detail. 5 _q/@ga,uff’ru“lwf Tgaﬂ/?cﬁf%m.{:{@ Cope?
7.(A) Describe the structure and function of stomach. 242 _éu.t_:JLébﬂ:.ﬁ L (e (L7
(B) How would you relate the internal structure 5 -Vf/l?.JWLi./;ieiu'ﬂkuh‘;tgJ:JJB’&V(}:)I’JZ ()

of root with the uptake of water and salt?
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|PAPER CODE 2022 (A) A
SSC PART-l (9th CLASS)

NUMBER: 1462

BIOLOGY  GROUP-II Iy < h;:/( e
TIME ALLOWED: 15 Minutes OBJECTIVE U‘B/”',ﬂ? e 15 = =
MAXIMUM MARKS: 12 12= AF

S\ SAfe i 3l rmene Jt s s WE Dy d6317 -t L4 D sl C B A szl vy LS
EIS V) KA S Sk S psts b Nz o Gt § O S\ LS s LT s
Note: you have four choices for each objective type question as A, B, C and D. The choice _uj)::d’}f?zgﬂir
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 1 /:‘Uly
(1) The scientific study of animals is called: ALt (1)
(A) Biology ($#¢L (B) Botany (' (C) Zoology (.94 (D) Microbiology L;)fl,s).:’l.
(2) The example of Colonial organization is: _.g..dt“}‘d/ﬁfbcw@f (2)
(A) Euglena ldbi’ (B) Amoeba «(#I (C) Paramecium (—'i“’ff« (D) Volvox u";:’l;

(3) Productive theory keeps on suggesting new: i C@&,fﬁdm‘?}‘lj:{ o’iﬂbg_p (3)
(A) Hypotheses u"f-%.fy (B) Observations /s>«  (C) Deduction -;565 (D) Law -U

(4) National animal of Pakistan is: e eI (4)
(A) Indus Dolphin ¢15U% (B) Sheep 2 (C) Markhar .#. (D) Lion 72

(5) Microfilaments are made of Protein: _L,ffi.x;,&gjfj,;ub'lﬁs/?l. (5)
(A) Haemoglobin ;_-)'-}E;"F (B) Tubulin Jgﬁ (C) Actin J"gi (D) Myoglobin u,'::gf‘. |

(6) The inner membrane of mitochondria forms infoldings are called; _ug&uﬁwgfq/&ujlp(pﬁs’ﬂ (6)
(A) Stroma L3> (B) Cristae &/ (C) Thylakoid iff/ﬁdu? (D) Granum (':f

(7) At which phase of Mitosis sister chromatids separate? ?u::Z_mﬁ.J.‘ J)_f_.fl.,/?/gjﬁ,,‘v/u/ U7 f’él. (7)
(A) Prophase /';;,,; (B) Metaphase /:'L:' (C) Anaphase f:.;(.‘(,' {D) Telophase /:’yf

(8) Longest phase of Meiosis is: ~e el S FETIS (8)
(A) Metaphase | jéL‘: (B) Telophase lj:"}f (C) Anaphase | ,’ét;l (D) Prophase | /‘:":,;

(9) Starch broken down by an enzyme is called: _./T'_blif rﬁa_gjl?d;‘?‘-_f-'mu%@;l; (9)
(A) Amylase }JJL;’I (B) Pepsin w7 (C) Lipase #U (D) Protease ;;féu;

(10) The biproduct formed during photosynthesis in H.‘:_-_..Lfﬁb_;J‘L.,,_gUu&‘__ und & IS (10)

the presence of sunlight is:
(A) CO, (B) O, (C) H,O (D) CgH420¢

(11) One gram of lipids contain energy: _+de‘bétl?aiyr'f~g (11)

(A) 745 2 kilocalories  (B) x4 4 kilocalories  (C) 249 7 kilocalories (D) 4% 9 Kilocalories

(12) Stomata in plants are closed at temperature: ..U_?Z.lgrﬂﬁ:{ é/;.}uf{ﬁ:ﬁ’u: U2y (12)
(A) 25-30°C (B) 35-40°C (C) 40-45°C (D) 48-50°C
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PAPER CODE 2022 (A) 4, ) A
NUMBER: 1464 SSC PART-l (9th CLASS) /)

BIOLOGY  GROUP-I b o ond GBI
TIME ALLOWED: 15 Minutes OBJECTIVE u:’:/"‘ﬂ o 15 = =5
MAXIMUM MARKS: 12 12= AF

_/;.u;# L /CU;PIJ.'EH“&WLVFKMJJ;JI u:fbé;:..;&bﬁdlfﬁgqulﬁ ..(_{{?fé.: D . CBA ngf;legidifﬁ -d
{241 -féglgkjﬂ}:}(jfufajﬂd/i,/g.é ):J:}b _?ﬂxr"“wu,afﬁuﬂufan‘JLﬂ F¥ L L/,{J,fu;}buyc_..g «3
Note: you have four choices for each objective type question as A, B, C and D. The choice -uj.&d’ﬂj;..:zl}fr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) The biproduct formed during photosynthesis in
the presence of sunlight is;

(A) CO,

(B) O, (C) H,0

(2) One gram of lipids contain energy:

(A) 24 2 Kilocalories (B) 7.+ 4 kilocalories

(C) 2% 7 kilocalories

A Ay

i \_'J/J’i{JL_{I Uh'd:.ub»é:jf ﬂ:’uﬁ (ﬁ.r(,(f;ur

(D) CgH1206
e S e $0Fe sy I
(D) ;_u;k'/,f 9 kilocalories

(1)

(3) Stomata in plants are closed at temperature: ~UrE kg ]_}V;ZJ!L‘:,»}L;‘.'LJ»; (3)
(A) 25-30°C (B) 35-40°C (C) 40-45°C (D) 46-50°C

(4) The scientific study of animals is called: ,uga/!;l&fuxviuui@ (4)
(A) Biology &4 (B) Botany (i1 (C) Zoology (.+/s5 (D) Microbiology (#1254

(5) The example of Colonial organization is: e JeSFATE ()
(A) Euglena ui’ (B) Amoeba L/ (C) Paramecium f““l/:— (D) Volvox s

(6) Productive theory keeps on suggesting new: _.»‘.;L?f‘;g}fﬁdm;?/ﬁ{ L}"@Eg.@ (6)
(A) Hypotheses u’f‘ifg, (B) Observations «l42+  (C) Deduction yﬁ?d 3 (D) Law «¥/

(7) National animal of Pakistan is: -y fs'u(”/@. )
(A) Indus Dolphin ¢3! (B) Sheep & (C) Markhor #4 (D) Lion

(8) Microfilaments are made of Protein: -{_{_?L:‘:“L‘-Ld:;{u}iﬁ:/?l. (8)
(A) Haemoglobin ¢s%<  (B) Tubulin ! (C) Actin o2& (D) Myoglobin w541

(9) The inner membrane of mitochondria forms infoldings are called: _@&Mﬁg){q/&uﬂd’pjs’ﬂ (9)
(A) Stroma Ls > (B) Cristae & (C) Thylakoid /iS¢ (D) Granum (&)

(10) At which phase of Mitosis sister chromatids separate? S stoi SRS e L0 (10)
(A) Prophase /’:."b_; (B) Metaphase jé’lav (C) Anaphase jf'&ﬂl (D) Telophase /’:"}@."

(11) Longest phase of Meiosis is: ~e e LAV (1)
(A) Metaphase I/‘:"(:: (B) Telophase | ;’1&' (C) Anaphase Ij:"l',_l (D) Prophase I/:-:’;{

(12) Starch broken down by an enzyme is called: -3 bu :‘;_Jwﬂc;(fry‘fu’-@m (12)

(A) Amylase 2L (B) Pepsin % (C) Lipase #1

(D) Protease /(s
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PAPER CODE

NUMBER: 1466

BIOLOGY

TIME ALLOWED: 15 Minutes

GROUPHII

4L

2022 (A)

SSC PART- (9th CLASS)

o)

Ira - ..,._.Af SA7L

MAXIMUM MARKS: 12

oo \ i3l peone e s & s Wl Jvr 38017 <t £ 4D 1 C B oA elzld Jivg

yEI® V) -fL@Lde%&fd@Jf&Lﬁi :(,u}b -f)’fjﬂwy[ﬁuﬁd:@ﬂﬂdfi-& Sk | LS s mlie LI s
Note: you have four choices for each objective type question as A, B, C and D. The choice -u_'ﬁd";l}_-,mr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

OBJECTIVE (/. e 15 =
12= AF
-

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1

{1) Atwhich phase of Mitosis sister chromatids separate?

)

(3)

4)

(6)

(")

®)

(A) Prophase j,:’:,; (B) Metaphase ,&L—:
Longest phase of Meiosis is:
(A) Metaphase | 2t~  (B) Telophase | 2&
Starch broken down by an enzyme is called:
(A) Amylase 20l (B) Pepsin ¥
The biproduct formed during photosynthesis in
the presence of sunlight is:

(A) CO, (B) O,

One gram of lipids contain energy:
(A) 24 2 Kilocalories
Stomata in plants are closed at temperature;

(A) 25-30°C (B) 35-40°C

The scientific study of animals is called:
(A) Biology G497 (B) Botany ¢

The example of Colonial organi;ation is:
(A) Euglena 6y (B) Amoeba sLz/

Productive theory keeps on suggesting new:

(A) Hypotheses f-“i;’ L

(10) National animal of Pakistan is:

(11)

(12) The inner membrane of mitochondria forms infoldings are called:

(A) Indus Dolphin ¢#5U% (B) Sheep 2
Microfilaments are made of Protein:
(A) Haemoglobin il (B) Tubulin /s

(A) Stroma s> (B) Cristae 5/

(B) ;;J:E'ff 4 Kilocalories

(B) Observations o Lsl:«

A Ay

St Lsni SRS IS T
(D) Telophase ﬁ’}f

—e L IS PETTIS
(D) Prophase | 21/

(C) Anaphase /':"t';l

(C) Anaphase | 2t/
b e Qe pt
(C) Lipase 51 (D) Protease z@s{
ik 5'{(}}‘\_,‘.,.@%&";_;};;»5/'_‘ﬂ}u:dju(_ﬁ/@:r
(C) Hy0 (D) CgH4,04
eGPt 4 /L
(©) '/“::E."/:K 7 kilocalories (D) z},_M,K 9 kilocalories

ULk e e Uy

(C) 40-45°C (D) 46-50°C
AL sl
(C) Zoology F.# (D) Microbiology (.#%Ls.4
e SRS

(D) Volvox /a5
- &JI&J)}:{%’G:{ dgﬂm...g

(C) Paramecium e I

(C) Deduction 43 (D) Law s
_%J;lfd}.{d‘}@

(C) Markhor .#.\ (D) Lion /7
“g,fé'_.ﬁ'a,div‘f:{ub lﬁ:/.él.

(D) Myoglobin 5.
O TS ALk
(D) Granum (=S

(C) Actin w“‘j; [

(C) Thylakoid %1ilw
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PAPER CODE 2022 (A) 7 ),

NUMBER: 1468 SSC PART-l (9th CLASS) %

BIOLOGY  GROUP-II Y S 2 )
TIME ALLOWED: 15 Minutes OBJECTIVE u‘.‘iﬁ,«f’ 2 16 = &=y
MAXIMUM MARKS: 12 12= 4F

S o L I3 Yol N s S u:jljééjﬁ.bﬁdlfﬁ{(éwlﬁ -SLE D AMCBA &Uﬁ;f@fg’ﬁd'}"ﬁ -
{24Vl J’Z.lgk)gﬂ?dfgﬂ@)ﬂdfi_/&i J’E}J?D ..fmr‘jbk'y’ﬁw‘:igﬂ@uﬂfi_)z oy L L/ﬂu;.?b»&):....g S
Note: you have four choices for each objec'tive type question as A, B, C and D. The choice -J,):;J’}’;al}!r
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) National animal of Pakistan is: _e.zitgd%ul"fg (1)
(A) Indus Dolphin Al (B) Sheep # (C) Markhor #. (D) Lion /2

(2) Microfilaments are made of Protein: iL{'?Lﬁé—LLf:J{JbLﬁJ/?L (2)
(A) Haemoglobin wee  (B) Tubulin e (C) Actin o™ (D) Myoglobin ¢:#\

(3) The inner membrane of mitochondria forms infoldings are called: -oﬁ&ﬂfuﬁ"&;{/duxl&p}(ﬂ (3)
(A) Stroma s/~ (B) Cristae C(/ (C) Thylakoid Jgtfuéu? (D) Granum fl);

(4) At which phase of Mitosis sister chromatids separate? Sl S S ()
(A) Prophase /’;"y; (B) Metaphase /';"l;: (C) Anaphase ,F.:;Lzl (D) Telophase ;;’:1:‘

(5) Longest phase of Meiosis is: = 718 3 ot} (5)
(A) Metaphase | 2t+  (B) Telophase | 7#  (C)Anaphase | 2L/ (D) Prophase | 23

(6) Starch broken down by an enzyme is called: -;;mf f‘é-{z(gd};&-ﬂﬂ(ﬁ@){b (6)
(A) Amylase X(jLﬁl (B) Pepsin 5 (C) Lipase 41 (D} Protease zlés{

(7) The biproduct formed during photosynthesis in ...cl;;.‘./?f{’ji:ugUIJZ.'T.UUJJLXOJL}}L}:L.}%JJ Gy (7

the presence of sunlight is:
(A) CO, (B) O, (C) Hy,O (D) CgH120g
(8) One gram of lipids contain energy: _,T_Gm}” laJti?:_,),y{*f/ig (8)

(A) 2% 2 kilocalories  (B) 7445 4 kilocalories  (C) 2% 7 kilocalories (D) 2% 9 kilocalories

(9) Stomata in plants are closed at temperature: Ut lorizy ﬁ-jwt:?ufu»g (9)
(A) 25-30°C (B) 35-40°C (C) 40-45°C (D) 46-50°C

(10) The scientific study of animals is called: -(_,gé”'./):dl&»;j“”fvéuu)lg (10)
(A) Biology (3;’;5 L (B) Botany (C) Zoology (§.915J (D) Microbiology (4% L:/?L

(11) The example of Colonial organization is: 3 Jed Aot 1)
{(A) Euglena kvg,f (B) Amoeba L/ (C) Paramecium (—‘%7/5 (D) Volvox L/Z,Jr,

(12) Productive theory keeps on suggesting new: J;__JB(}/U}J»{‘-?/};{ Gl (12)
(A) Hypotheses U ¥%,  (B) Observations =isl  (C) Deduction ¢33 (D) Law U
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